ASSEMBLY INSTRUCTIONS
MEDIA CENTER

We are here to help!

We do our best to insure that your furniture arrives in excellent condition. In the event that a
part is damaged or missing, We will be happy to provide you with replacement parts,

at no charge, within 30 days of purchase, providing the parts are available in our
warehouse and the item purchased is part of our current inventory. In order to receive

spare parts, at no charge, you must provide proof of purchase within 30 days.

MADE IN CHINA



PAGE 2 OF 8

Parts Identification

ITEM DESCRIPTION QTY

#1 TOP 01

#2 LEFT SIDE 01

#3 RIGHT SIDE 01

#4 SHELF 01

#5 CENTER SUPPORT 01

#6 BOTTOM FRAME 01

#7 UPPER FOLDING BACK 01

#8 LOWER FOLDING BACK 01

#9 LEFT DRAWER FRONT 01

#10 RIGHT DRAWER FRONT 01

#11 LEFT DRAWER SIDE 02

#12 RIGHT DRAWER SIDE 02

#13 DRAWER BACK 02

#14 DRAWER BOTTOM 02

#11
NS
#9
#12
Y
#10 #12

For ease of identification all
parts are labeled to correspond
to the Step number in which
the part is used.

If any parts are missing or damaged in this package, We will be

happy to provide you with replacement parts, at no charge, within 30 days of
purchase, providing the parts are available in our warehouse and the item purchased
is part of our current inventory. In order to receive spare parts, at no charge, you
must provide proof of purchase within 30 days.



PAGE 3 OF 8

ITEM PICTURE DESCRIPTION QTY
A BOLT (1-1/8" LONG) 4
B %P KNOB 2
c » SCREWS (1-1/8" LONG) 3
b WOOD DOWELS 16
E SMALL CAM LOCKS 6
F SMALL CAM LOCKS 6
G SMALL SCREWS (5/8" LONG) 21
H SMALL SCREWS (1" LONG) 16
I BOLT (1-1/8" LONG) 15
J STRAP 1
K SMALL SCREWS (1-1/8" LONG) 1
L )Y MOLLEY 1

If any parts are missing or damaged in this package, We will be

happy to provide you with replacement parts, at no charge, within 30 days of
purchase, providing the parts are available in our warehouse and the item purchased
is part of our current inventory. In order to receive spare parts, at no charge, you
must provide proof of purchase within 30 days.



PAGE 4 OF 8

SCREWDRIVER
(NOT PROVIDED)

SCREWDRIVER
(NOT PROVIDED)

‘W‘V 0
\V a000090000000)

STEP 1.

_ - - 0¢AM

SCREWDRIVER
(NOT PROVIDED)

SCREWDRIVER
(NOT PROVIDED)




PAGE 5 OF 8

STEP 3.

SCREWDRIVER
(NOT PROVIDED)

SCREWDRIVER
(NOT PROVIDED)




STEP 5.

SCREWDRIVER
(NOT PROVIDED)

REMARK:REPEAT THE STEP4 TO SETP6 WITH ANOTHER DRAWER.




STEP 7.

#9

#10

WA

STEP 8.

SCREWDRIVER
(NOT PROVIDED)




PAGE 8 OF 8

LIMITED 6 MONTHS WARRANTY

WHAT IS COVERED

This product is covered under our manufacturer's 6 months limited warranty

To ensure your complete satisfaction, this warrants to the original

purchaser that the supplied item is free from defects in material and
workmanship, as of the date of purchase, and that it will, under normal use and proper
care, remain so for six months after the date of purchase.

Replacement of missing or initially defective parts will be sent, at no charge, for a period
of 30 days from the date of purchase with valid proof of purchase providing the parts are
available in our warehouse and the item purchased is part of our current inventory.

WHAT IS NOT COVERED

It remains the customer's responsibility for freight and packaging charges to and from
the customer service center. Labor and material charges to remove or replace parts
under this warranty are not covered.

This warranty does not cover: Furniture used for commercial purposes, failures caused
by improper installation assembly or by improper care, unreasonable or abusive use
freeze damage, acts of God, rust, purchased parts or return freight and packaging
charges. Proof of purchase (dated register receipt) is required for warranty claims.



‘ *** CAUTION *** - This stand is intended for use

{3

only with the products and maximum weights indicated. Use

with other products or products heavier than the maximum
weights indicated may result in instability causing possible injury.

Description: MEDIA CENTER
Origin: China

TELEVISION
MAXIMUM SIZE 40 INCH DIAGONAL
MAXIMUM LOAD 200 LBS

A

PRODUCT WEIGHING
50 POUNDS MAXIMUM

PRODUCT WEIGHING
25 POUNDS MAXIMUM




	CT00054-1组立 Model (1).pdf
	CT00054-1组立 Model (2).pdf
	CT00054-1组立 Model (3).pdf
	CT00054-1组立 Model (4).pdf
	CT00054-1组立 Model (5).pdf
	CT00054-1组立 Model (6).pdf
	CT00054-1组立 Model (7).pdf
	CT00054-1组立 Model (8).pdf
	CT00054-1组立 Model (9).pdf



